dNd L '1ED 3joum AW

LN&\.A%SL\ = @(w

ra) ya) \v
g - 5N

{ \
A

dNod | "20 840 9 |9 %1 HIW
dno z/1 9z/L seyoead nig

99|IS Z HOM IS Z 1BSYM IS 8T peaug
dN3 Z/L '2 Z/L (pewesig) sjouen Bep

dNO L "1eD 8louM AW
dND | 20 810 9 |29 %L HIN

v3 | ea | a|ddy ysaig ynig

V3 | €3 L YOM |10Y JeayM 810ypp pealg

dnO | "1e9 sjoym MW
dNo | 'zo gio g |9 %L W

V3| ea | ajad eueueq }jnig

V3 | B8] ¥YOM ung quieH jesyp pesig
dNd Z/I 24 ojejod pejeg

ZO0 L't 0Q isealg paj|li9 usyaiyo

l

dNo L 2D 3jouM HIIN

dNO | 20810929 %l AN

dnd z/L 9 Z/L P02 NI pax| Jnid

V3 | B3 | HOM oY Jesym sjoym peaig
dng zZ/L ||eo001g Bap

209 @saay) @ [uosesepy

WY
Sty

3

dO 1 e 3loym “iW
dnd | 'Zo gJo g es %l AN
dno z/L 92/t a|ddesauid ynig

V3 1 Bli}IOL Jesym YOM pealg
dng Z/1  ulay ajoym uio) Bap
Z0 §° sode] oy peppaiys asaayn
Z0 ¢ s iesy ode] Jesg

0¢

dfid 1 ‘1.9 ajoym AN

dNd 2/L dna g/} (peweelg) usals) sueeg Bep
20 € usyayg pejeg ﬂ V3 | 2Q jeoTjes|y jeeg N
dnd 1 ‘(e 3joym HIW dNd 1 "1eD sjoym MW
dNd | 20 g 109 |e9 %L AW dNd | "z0 g Jo 9 [eD %l W
dND Z/1 3 /L Uni4 jesjdod) ynig dng z/L 9 z/) seBuei upepue yniy
83|IS T UOM IS Z JesUM |s gg preaig V3 L B2l YOM ung quiey jeaym peaig
dng /1 sead Bap dng /L paysel saojejod
20 Z Aexung wey NN V3 | B3 | NO papesig Ajjed usyoo QN

dnd L

dNo 1 ‘le9 sjoum AW

dNO L 20 810 9 (BO %1 NIW
dng z/L 2/ siesd ynuy
V3 I wod uyny peaig

dNa 2/k "o g/t (pawes)g) sjouen Bap

ravay

[{1Lte]

T4

dnd L

dNd | "1eD sjoym W
dNd | 'z0 810919 %} AW
V3 | e8| 8|ddy ysaid jniq
Vd | B2| YOM ung quieH jeayps peaig
dNd 2/L dno g/ (pawealg) usalg sueag Bap

<4

v3 L siabinquiey jeeg

dNO L ‘1eo ajouym YN
dNd | ‘20 840 9189 %L AN
dng Z/L 2 z/1 eonesa|ddy jnig
VI L B3 | HOM lIoN 1edyM 3|0y pealg
dND Z/l 198Mg paysep saojejod
20 £ s1eBuig usyo|yd

14

dNd | 'Z0 8109 [BD %L YW
v | ko | aBuesq jjniq
92/IS ¢ MOM IS T 1eayM |s 8Z peasg
el N 77 2

pax|y Bap
Z0 2 (yompues ioj) eubojog jesg v:mch

dNJ | '1e9 sjoum W

‘|29 ajouM AW
dN3 | '20 § 10 8 [BO) %L “NiW
V3 | k9| ajad eueueq jnig
V3 | B3l YOM ungd quiey jeayp peaig
dNo Z/k Jsamoyjlined Bap

Z0 Z 240 oo Addo|s

6l

dNd |1 B9 2joum MW

‘|9 3[OYM “HIIW
dnNo | 'Zo giog(es %l AW
dng Z/} 9 g/) slead ynig
V3 L BY|IHOL JesUM YOM peaig
Q:O 2/ W9y ajoym ulon mm>
Z0 S° SOOE) J0j pappaiys aseaysn
20 Z seifeq uaxalyo

8l
—nog = g [he

SUPPUGL W - WY
dNo L ‘129 sjoum NI
dNO L "20 810 g (€D %l HIN
dng Z/1L 2 g/} seBuelQ upepuey Jniy
V3 } B9 | YOM |10 JBaYM Bjoym peaug
v3 | 9,0d Jeye] asneg
dng z/1 sead Bap

V3 € B8 € NJ SHIBS ysid

Ll

dNI L 1.9 djoum MW
dN2 | 'Z0 840 g D %l YW
dng z/i 9z/) sayoead ynig
VI L B3| YOM ung quiey jeayp pearg
dng z/p yooasoug Bap

Z0 £ Palind usioy9

9i

dN2 | 20 810 9 (€9 %} ANIW

dng z/1 9 z/) eonesajddy ynay

82(IS Z YOM IS Z JeaUM |S 82 peesg
dn3 Z/L 0Q olelod pejes

Z0 ¢ 'Y3s/oa 40} Pa2|IS Aaxny pueg m F
TS
&WW%

dnN3 L 2D sjoym WIW

dNO | "20 810 g e %L YN
V3 | ea | o|ddy ysai4 3nig
V3 | €3 | ¥YOM 110N JeSUM BIOLM pealg
V3 I 9d DY saneg
dng g/1  uley ejoym ur09 Bap
20 ¢ sieBuq uarolyo

cl

dna L

dNd i ‘129 ajoum AN

dND L 20 g0 g |29 %) AN

dno /L 3 Z/1L 1.0 Jnig paxiiy Hnid
V3 | B3 | YOM [10Y JesYAL BJOYAA pealg
dNnO | passo] pejeg

8d]jed | O( euBese sanugy
a

(A%
] Ve [

dNd | ‘129 ajouym MW

dnNd | 'z0 glo g e %L FIW
dng z/1 9Z/L elddesulq ynzg

V3 | B3l YOM ung quuey jeaym peasg
dNa Z/L "2 /1 (pewea)s) sjouteg Bap

Va1 ea | N papesig Aited usyoro O b

dNo L [eD sjoum MNiW

dNo L '20 8109 [e9 %L MW

Q:O ZiL 92/} s1ead jinig

V3 | ealL ¥YOM ung quuieH jeayp peasg
dNO Z/l ueliejabop paxeg suesg

vi | e8| tabing Aeyany

6

dNd | ‘20 gio g (e %) "MW
dng g/i 9z/1 seyoead ynig
82||S 7 YOM IS T 1BaYM |S 8Z peaud
dng z/), sead Bap

Z0 T e pues pejeg euny puesg

9

dno g/1 dno g/ (pewes)g) uaalg sueaqg Bep

"IED S10YM HItW

dNd | "zo g 109 |9 %1 MW
dNO Z/L 32/L i fesidoa 3nig

V3 | €3] YOM ung quiey jeaym peaig

Aepuy

V3 | NI 0Q Dag iseaig usyoyg

g

V3 | B3 L YOM (10 1e8YM 2|0YM pesig

dfd | ‘1eD 8joym NI
dnNd L zo g 1o g e %l MW

dnd Z/L 92/i siead Jinuy

dn /L psysen ssojejod

~2Fnq) - oz 600

dNo 1 1.9 a|oum AW
dNd L 'Z0 840 9 [eD %l NN
v ) ea i abueiQ yni4

v | ee | YOM Boq 10H jeaym peaig

SIopua] woA7 Vo = oI

82[IS L |5 | YOM Ie8YM 3[OUM IS 8Z pealg

dNd L (BD Bjoum WIW
dNO | 20 810 9 [e9) %1 “IIW

dng Z/L 9 z/1L aanessiddy jniy

v3a} 9,0d Jepej soneg
dno | passo] pejeg u.mwz_.EeW.w>
V3 | 2Q jeoieap jaeg .v V3 9 ‘B8 20Z/1-9 gng j|eqjesyy jaag ﬂ VI € B8 £ NO SHOUS Usid N
Kepsinyy Kepsaupap Kepsony Kepuop
siajue) aiep Aeq

1340300




